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SR EE BAARBEEEEEE (4 : 9%)
M| wETH | mREDE ERRE MARRE | BIERGEDE
1 me™ 86.2 9.4 0.03 0.36
2 BT 90.0 13.5 0 0
3| BT 82.1 11.5 0.30 2.56
41 MR 90. 2 10. 1 0.09 0.89
5| EFIIT 87.5 8.4 0 0
6| BRT 79.3 6.1 0. 21 3. 45
| =Ewm 100.0 6.9 0 0
8] =tfmh 94.8 13.1 0.68 5.19
9|  REIMHHET 80.0 13. 4 0 0
10{  _ERsHET 44 4 10.8 0 0
11| AR A4S 75.0 8.7 0 0
12 B FHT 12.2 8.8 0 0
13|  #ILHET 84.6 1.9 0 0
14|  FREHET 95.8 20.2 1.68 8.33
15| UK HT 75.0 5.6 0 0
16| RIKHET 85.2 18.9 0 0
17  Ei5HE 14.1 12.6 0 0
18|  trikHT 88.9 1.3 0. 41 5.56
19|  JdL ST 94.4 5.5 0 0
20|  BE{EHET 82.6 10. 3 0.45 4.35
21 i BF BT 70.0 8.4 0 0
22| LiRHET 85.7 6.9 0 0
23| DB EH 12.1 9.2 0 0
24| WA & LHT 76.5 1.5 0 0
mER 85. 1 9.5 0.14 1.46

2 E 81.7 6.4 0.12 1. 91
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